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FFSEE B RIRHF R TEEE - ULHAEE - UXHh 34K
1. REFEH (B4 : M. %)
SHSEE | SHAFEE | FIFELR k=
R4 | 750,012,300 | 740,591,400 9,420,900 [R5%) 756,400,000
AELE (A)  |EEEUNS| 72,015,400 67,408,400 4,607,000 |R5%) 69,500,000
it 822,027,700 | 807,999,800 14,027,900
R4 | 750,012,300 | 740,591,400 9,420,900 |R5:EfTk%28 264,000
INENEE (B) | E&#IR5| 69,665,100 64,580,991 5,084,109 |Rsigft k%48 2,300
F 819,677,400 | 805,172,391 14,505,009
- 5 Al AR 100.00 100.00 0.00
(Jg)ﬁﬁqﬁ) @ISy 96.74 95.81 0.93
it 99.71 99.65 0.06
2. FEiRigE 5 (B4 : M. %)
SHSEE | SHAFEE | FIFELR iBE
SEE (A) %iﬁ{ﬂﬂlﬁ 7,563,809 9,243,228 -1,679,419
~ it 7,563,809 9,243,228 -1,679,419
InihEE (B) %iﬁ{ﬂﬂlﬁ 2,455,369 2,967,955 -512,586
~ it 2,455,369 2,967,955 -512,586
IR HmEE @ISy 32.46 32.11 0.35
(B)/(A) it 32.46 32.11 0.35
3. MEE S + iz s (B4 : . %)
SHSEE | SHAFEE | FIFELR iBE
AU S| 750,012,300 | 740,591,400 9,420,900
FTEEE (A) |E@EBURS| 79,579,209 76,651,628 2,927,581
it 829,591,509 | 817,243,028 12,348,481
RISy | 750,012,300 | 740,591,400 9,420,900
INHNEE (B) | E&#IN5S| 72,120,469 67,548,946 4,571,523
it 822,132,769 | 808,140,346 13,992,423
- 5 Al U 7 100.00 100.00 0.00
(Jg)ﬁﬁqﬁ) i U S 90.63 88.12 2.51
i 99.10 98.89 0.21
4 VAN
RINGHE (C) if’;fg‘“ﬂ . 0 0
(A)-(B) =8 U S 7,458,740 9,102,682 -1,643,942
it 7,458,740 9,102,682 -1,643,942
Fr Rl 5y 0 0 0
TimxiEEE (D) | HE @8RS 1,508,686 1,538,873 -30,187
it 1,508,686 1,538,873 -30,187
4 VAN
wwmes 22X 0 0 0
(C)=(D) =8 U S 5,950,054 7,563,809 -1,613,755
it 5,950,054 7,563,809 -1,613,755
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THEFEEARERN S MFRINE

1. BEER (B4 M)
SH6EE | HSMSEE | BIEELR k=
71U 776,748,500 | 761,135,500 15,613,000
SRAERE T@BUNS| 51,758,700 49,367,700 2,391,000
it 828,507,200 | 810,503,200 18,004,000
2. Eihigi o (Bf:A)
SH6EE | HSMSEE | BIEELR k=
5 FEBURS| 5,950,054 7563809 | -1,613755
A it 5,950,054 7,563,809 -1,613,755
3. MEE 5+ FiniE s (Ef: )
SH6EE | SMSEE | BIEELR k=
71U 776,748,500 | 761,135,500 15,613,000
SRAERE T@EHBUNS| 57,708,754 56,931,509 777,245
it 834,457,254 | 818,067,009 16,390,245
4. RIEHBRIRER (B4 N)
SH6EE | {SMSEE | BIEELR k=
5 R U 5 11,108 10,914 194
BRRES | EEEIS 839 839 0
it 11,947 11,753 194
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TERRFT R ERENHEARRE R

(BT A)
_ ?&1%@%;&;(Rq}: ‘ SO IRIR =3
A 12 E Rt XAFM6FR 4B RAE (BYMARREZARR) EEFE
A EHE bikEE=] ait (A || #BEREEZ(RE) B)|| (A)-(B)

E1ERRE 1,144 206 0 1,350 1,343 7
2B R 798 68 0 866 856 10
EIRE 698 34 0 732 767 -35
FAERRE 1,512 122 0 1,634 1,796 -162
SE5ER e 1,956 12 0 1,968 1,916 52
FEOER[E 1,662 54 0 1,716 2,069 -353
ETERRE 1,816 79 0 1,895 1,777 118
EERE 821 82 0 903 897 6
FEIRE 348 57 0 405 327 78
S 10ER [ 154 31 0 185 201 -16
FEERRE 57 20 0 77 62 15
FE12ER [ 31 12 0 43 61 -18
13X 41 19 0 60 85 -25
FE14ER [ 70 43 0 113 104 9
=1 11,108 839 0 11,947 12,261 -314
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